04-900-022

Seve

@ BOltpakke Produkt nr. / Product no. / Produkt nr.
04-900-022
Beltpakke 01-129-117K
Ord. nr.

@ Bultpaket Dato.
Sign.

Save AS
Grgnnvoldveien 290
3830 Ulefoss - Norway
TIf: +47 35 94 65 65

save Www.sove.no

Sove AB

EA Rosengrensgatan 32

421 31 Vastra Frolunda
Phone: +46 (0)31 773 97 00

s 60 e www.sove.se

10.04.2024




Save

04-900-022

Boltpakke / Bolt package / Bultpaket Sign.
04-900-022 Navn Artnr/dimensjon |Ant |Lev
/ Brikke 120 3xM8 04-060-120
7o |Torx M8x16 04-000-016 |3
_ Torx M8x20 04-000-020 |3
( Torx M8x25 04-000-025 |10
| 720 |Torx M8x30 04-000-030 |2
7 |Torx M8x35 04-000-035 |8
C Torx M8x45 04-000-045 |2
Hylsegjenge M8 04-021-007 |3
L=30
i'\y
Lasemutter M8 04-040-008 |12
Lasemutter M10 04-040-010 |1
Rl 2
O\ |Skive M8 04-050-008 |16
) Skive M10 Polyfix  |04-055-036 |1




Sove 04-900-022
Boltpakke / Bolt package / Bultpaket Sign.

04-900-022 Navn Artnr/dimensjon |Ant |Lev
Hylsemutter @12x40 |04-019-040 |2
1xM8

< (
N
Plast hette kropp M10|05-301-035 |1
7~
(1 Q
Plast hette hode M10 |05-301-035 |1
1\.
> Vinkel 04-070-036 |2
1 35x35x35x%x3
O 11mm hull




